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and differentiate directly (correctly using B
the chain rule as we go) to find dy/dx. (

Entry Task: Find the equation for the
tangent line to
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at (x,y) = (4,-2). y=-2(x-4) +- -



Find dy/dx.
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Old Midterm Question:

Consider the curve implicitly defined by
C"[(x 2)2+e3’=4’i§

Find the (x, y) coordinates of the point A

shown (highest point on the curve).
WANT T Know  Wtfené d;gx

v

—

‘_f = (x —y 3(3)( _J%

a. b O o
2 (¥ %0 =0 =2

a,

o

zesT




Inverse Functions: We write inverse
functions as y = f~1(x) which is
equivalent tof (y) = x.

We can implicitly differentiate
o d o dy
UM =x=f0==1
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Examples: Find dy/dx
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Ix (sin"'(x)) = Ny E(c_os‘l(x)) = — T
d 1 d 1

7 (tan () = 7 Zx (o) = -7
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a (Sec 1(x)) - xm a; (CSC l(x)) - X xz —1

e Note: The formulas all assume the
principal domains as defined in our
textbook.

Now you can use these shortcuts.
Exercise: Find dy/dx
y = tan~1(e3%)
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